do / dA{R} [pb]

Ratio to CMS

0.5

ol

7000 GeV pp b
L R B B

A R(b-jets) (pTJIeaol > 120 GeV, hJIead| <3)

Rivet 3.1.10, = 400k events

Pythia 8.398’default
¥ - Pythia 8,308 vincia-default
----- LR Sherp#2.2.9 default

I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII|_

mcplots.cern.ch [arXiv:1306.3436]

| ~ /!\_\A\' ) —
- N -
3
- 1
~
-
— 4
’ Q,——
4
7’
I ’
’
\ S
- y
— e 7
’ ’
’
— ! Q ’ 0.5
~ ’
I ~ o , .
S
’
’
| 1 1 1 1 " | VA | 1 1 " 1 " | 1 1

A{R} between two B hadrons



	Contents
	Page 1


